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e N TEO N 1O
By (Na) | BPCKD . B (Rb)
Ba(cs)

& (H)

3H, +2As =2AsH, Om#)
6H,+ As,0,=2AsH,; +3H,0(n#k )
eH,+ As, O =2AsH,+5H, O
3H2+2BC13=2B+6HC1

H, +Br, = 2HBr (n3)
H,+Ca=CaH,
2H2+C=CH4(7JH#‘<)
Hz+2C=C2H2
4H2+COZ=CH4+2HZO
7H,+C0,+CO=2CH,+3H,0
Hz"l‘Csz:CzHa
H2+C2He=2CH4

H,+ CoO=Co+H,O
H2+CHO=CH+HZO
Hz‘l"zCuO:CUzO'l'HzO
H,+CuCl,=Cu+2HCI
H,+F,=2HF

3H, +HCl0,=3H,0+HCI
5H,+2HNO;=6H,0+N, 1t
3H,+4+2HNO;=4H,0+2NO {
4H, +2HNO,=5H,0+N,0 1



4H,+HNO,=NH,;+4+3H,0
¢H,+2HNO,;=N,H,+6H,0
7H,4+2HNO,=N,H,+6H,0
H,+2HNO,=N,0,+2H,0

H,+H,0,=2H,0

3H2+H’SOS=3H7_O+HZS
H,+H.50,=H,5S0,+H,0,

H,+H,S0,=S0, 1 +2H,0
5H,+3H,SO,4+2KMn0O,=K,SO,+2MnSO,+8H,0
4H2 +H3ASO‘=4H=O+ASI-13
H,+N,0=N,+H,O

H, +2FeCly=2FeCl, +2HCI

H,+FeO=Fe+H,O

3H,+Fe,0;,=2Fe+3H,0
H,+Fe,0,=2FeO+H,0
H,+Fe,(50,);=2FeSO,+H,SO, (im#)

g 4H2+Fe304—3Fe+4H O(mnn)
- 4H,+Fe S, =3Fe+4H,S 1 (pit 5

H, +I =2HI

H +PbOz—PbO+H O(m# )
H +PbO=Pb+H,0O
sH +2PbSO, —Pb+PbS+SO 1 +6H,0
H, +MgO=Mg+H,0
H +2HgC12—Hg2C1 +2HCI
Hz +2Na=2NaH
H, +NiO=H, 0+ Ni(jn#)
3H2+N3=2NH3(1,"§&‘)
3H,+2NO=2NH,OH
5H,+2NO=2NH,;+2H,0 .
HZ +Nzo=Hzo+Nz > - i
2Hz+Oz=2HzO(ﬂH#’:)
H, +Os=Hzo+Oz(1mm)
H, +0,+Ca=Ca(OH),
H,+0,4+C0O=CO0O,+H,0
4H,+KNO;=KOH+2H,0+NH, ¢
6H2+P4=4PH3 T
H,+2AgF=2Ag+42HF

2



H2+Ang=2Ag+HzS 1
4H2+NaN03=NaOH+2HzO+NH3
H,+2NaOH=2H,0+2Na
H,+S=H,S(p#)
3H,+S0,=2H,0+H,S
H,+SnCl,=5aCl,+2HCI
3H2+W03=3H10+W(7JH??.‘¥)

2H, +GeCl ,=Ge+ 4HCI(Jn#k)

2H, +SiF ,=Si+4HF (n#k)

2H20=2H3 1 +Oz 1 (17!1?3!&)
6H,0+2A1=2A1(0OH),+3H, 1
3H,0+AICl;=A1(OH);+3HCI
6H,0+Al1,(CO;)s=2A1(0OH);+3H,0+43CO,
6H.O+ Al1,S;=2A1(0H). L+3H ST
6H,0+A1,(S0,):;=2A1(0OH), l+3H SO
12H O+Al.C3—-4A1(OH),+3CH 1

sH O-LSbCls—Sb(OH) | +3HCIi

HZO+ SbCl;=SbOCl | +2HCI
H,0+4+SbCl;=SbOCl, | +2HCI
2H,0+SbCls=Sb0,Cl | +4HCI
3H,0+Sbh,0,=2Sb(OH), |
4H,0+As,+4NaOH=4NaAsO,+6H, 1
i O+AsC1, AsOCl | +2HCI

2H O+ AsCly;=As(OH),Cl | 4+2HCI
3H,0+ AsCly,=As(0OH), | +3HCl

5H, O+2AsC1s As,04 | +10HCI

5H., O+ AsCl, As(OH) | +5HCI
3]{20+A5203=2H3A503
\3H20+A5205=2H3ASO4

3H,0+ As,S=As,0,+3H,S 1

$H, O+2A1+2NaOH zNa[Al(oH)J 3H,t
2H, O+Zn+2NaOH Na,(Za(OH) J+H, 1
8H,0+As,S;=2H,AsO, +5H ST
2H,0+Ba= Ba(OH)z+H2

H O+BaCOs—Ba(OH) +CO, {

‘{ O0+Ba0,+C0O,=BaC0O, | +H,0,
2H,O+BaS=Ba(OH)z +H,S1
H,0+4+BaS+C0,=BaCO,; | +H,S 1
H,0+BiCl;=BiOCl | 4+2HCI1



2H,0+4BiCl,=Bi(0H),Cl | +2HCI

2H; O+B1(NO )s=Bi(OH);NO, | +2HNO,
9H,0+Bi,(50,),=(Bi0),50, | +2H,50,
SHZO-E-BC13=HSB03+3HC1
2H20+2B203=4I_IB02
6H20+2B203=4H3B03
H20+2B203=H2B4O7
H,O0+Br,=HBr+HBrO
H,0+Br;+AgNO,=AgBr | +HBrO+HNO,
H,0+Ca=CaO+H, 1
oH,0+Ca=Ca(OH), +H; §
HZO+CaCO,+COz=Ca(HCOS)2
2H,04+CaC,;=Ca(OH), | +C,H, 1
2H,0+Ca(CN),=Ca(OH), | L 2HCN
2H.O+CaH, =2H, 1 4+ Ca(OH), |
H,0+Ca0=Ca(0H),

H 0+ CO, +Ca(0OCl), =€aC0, | +2HCIO
2H,0+Ca(0Cl),=Ca(0OH), | +2HCIO

2H,0+42CaS=Ca(HS); +Ca(OH), |
2H,0+CaS0O,=CaS0,-2H,0
4H,0+Ca,Si=2Ca(OH), | +SiH, 1

6H, OTCang——SCa(OH) +B,H,
6H,0+Ca;N,=3Ca(0OH), +2NH 1
SHZO+Ca Pz_JCao+2PH 1
GHZO—}-CaSPz=3Ca(OH)2+2PH3 1
H,04+C=CO+H, (fnk)
H,0+CH,Cl=HCl+CH,OH
H,0+CO=H, +CO,(Im#% )
HzO'I‘COz:HZ,COs
H,0+CO,+CaS5=C,C0O, | +H,S?t
H,0+C0O,+K,C0O,=2KHCO, 4
3H,0+C0O;+2NaAl0,=Na,CO,+2A1(0H), |
H,0+4+CO,+NaCl+NH,=NaHCO,+NH,Cl
H20+C02 +NazC03=2NaHC03
10H,0+Cl,=Cl,+-10H,0

4



‘H,0+Cl,=HCI+HCIO

2H O0+2Cl,=4HCI4+0, (fm#) '

- 2H,0+46C1,0,=4HCI10Q,+4Cl, 1 +0, 1

H. O+C1 O=zsHECID

H O-ECL O, =2HEINS

H, 20+ Cl1,0,=2HCIO,
H,0+Cl1,0,=2HCIO,
6H,046CrCl,=4CrCl, +2Cr(OH), +3H, 1
3H 0+2CrCl;=Cr,0, | 4+6HCI

3H,0+2CrCl, +3Na2C03—2Cr(OH) +6NaCl+
3CO t

gH O+CrF =CrO; | +6HF

2H O+2Cr(OH)2—2Cr(OH) +H, 1

H O+CrO3 =IOl

H,0+42CrO,= H Cri:bh

2H O+CuClz—Cu(OH) +2HCD

HZ O+CuO Cu(OH),

3H O+3F,=6HF+0, 1 |
tH,0+42F,=4HF40, 1 I ¢
H O—J—HCNS NH, +COS

H,O0+HCNO= NH +CO: 1

GH 04P O,°—4H 205y

H, O+HP03_H PO

2H,0+P,0,, = 4HPO,

10H O+3P 104, =4H,P{04

4H, O+P O“,_zH4 z0,

!'H O+NazB O +H SO4—4H BO +Na250‘
H,04H,S ,0, =H,S0, + K50

H O+H, SOS_H 0, +H SO4

H O+12——HI+HIO

3H, 20+31,+5A¢gNO,=5A¢gl | +5HNO,+HIO,

3H,0+-31, +6Na, CO, =NalQ,+5Nal+6NaHCO,
H O+IC1_IOH+HC1

3H O+2ICl,=HIO,; +5HCI+IClI

H O-H O;=2HI0,

4H O+3Fe—Fe30 +4H, 1 (m#t)

H O+Fe+COz=FeCO +H

7H O+Fe+H, SO4—FeSO4-7H O+H;t



2H,0+4+Fe+6KCN=H, { +2KOH+K ,(Fe(CN),X
6H,0+4FeCO;+0,=4CO, 1 +4Fe(OH), |
3H,0+FeCl,=Fe(OH), | 4+3HCI
2H, O+4FeSO +0,= 4Fe(OH)SO4
2H, O-l-Pb(NO ).=Pb0O; | +4HNO,
2H,0+Pb(S0,),=PbO, | +2H,SO,
2H,0+42PbS0O,=Pb0O, | +Pb | +2H SO,
3H,0+4Li;N=NH,+3LiOH
H,O0+Mg=MgO+H, 1 (k)
2H,0+MgCl,=2HCI+Mg(OH), |
H,0+MgCl,=MgO4-2HCI(Ip#k)
_H,0+2MgCl,=Mg0O-MgCl,+2HCI1
eH O+Mg3Nz—3Mg(OH)z+2NH
H,04+MgO=Mg(OH),
szO‘I‘MgS:HzS 1 +Mg(OH)2 !
H20+Mn207=2HMnO4
H,0+HgCl,=Hg(OH)Cl+HCl
H,0+NH,Na=NaOH--NH,
HzO+2NOz=HNOz +HN03
H,0+3NO,=NO+2HNO,
H,0+N,0,=2HNO,

H O+NzO4 HNO,+HNO,
H,O0+N, OS—ZHNO
2H,O+Oz+4Fe(OH)z=4Fe(OH)31
6H,0+30, +4Fe=4Fe(OH); |
3H,0+PBr,=3HBr+H,PO,
4H30+PBr5=5HBr+H3PO‘
H,04PCl,=POCI+2HCl

SH O+ PCl,=FH ;PO ,;+3HCI
H,0+4PCly=2HC!+POCl
4H,0+PF,=5HF+H,PO,
sH,0+PI,=3HI+H, PO,
3H,0+POCI, —=3HCI+H, PO,
2H,0+POC1,=HPO,+3HCI
2H,0+2K=2KOH+H, t
H,04+KH=KOH+H, 1

6



'2H20+2K02=2I{OH+H202 +Oz T
2H,0+K,Si0,=2KOH+H,Si0,
H,0+K,S=KHS+KOH
HZO+K25205=2KH503
H.0+K.PO,=KOH+K,HPO,
oH,0+SiCl,=S;0, | +4HCl
2H,0+3SiF ,=2H,SiF+Si0, |
9H,04SiF ,=Si0, | +4HF
H,0+Ag,S=Ag,0+H,S =
2H20+2Na=2NaOH+Hz T
2H,0+NaAl0,=NaOH+ AI1(OH), |
2H,0+Na,0,=2NaOH+H,0,
H20+Na,,0=2NaOH
2H20+N3202=2NaOH+H203
2H20+Nazsi03=2NdOH+HzSi03
H,0+S0,=H,S0,

H,0+S0C1,=SO CIOH+HCI
2H,0+4S0,Cl,=S0,(0H),+2HCI1
HzO+SOs=stO4

H.0+250,=H,S,0,
H.0+80, +2NH, =(NH,),S0,

31,04 25,Cl, = 4HCI+H, 50, +3S |
H,U+SnCl,=Sn(OH)CI1 | +HCI
3HZO+SHC14=4HC1+HzSn03 1
4H.0+45nCl,=H,Sn0, | +4HCI
3H,0+TiCl,=H,TiO, | +4HCI
2H20+Zﬂ=zn(OH)z+HzT
2H20+(NH4)25205 =2NH4HSO4+H202
7H20+ZnSO4=ZnSO‘.7HzO
H202=Hz+02

2H202=2H20+02
H202+Ba(OH)3=BaOZ+2Hzo
H202+Ba(‘OH)z+6Hzo=BaOZ'8HzO
H202+Br2202 T +2HBr
-Hzoz+ca(oH)z=CaOz+2Hzo
HZOZ*ZHCI=C12+2H20
3H203-}‘ZCr03=Cr203+3H20+302 T
3H,0,+2Cr(OH); +4NaOH=2Na,CrO,+8H,0
H,0,4+2CoCl;+4KOH=2Co(0OH), | +4KCl



[=2H,0+1,

Oz+2Hz r04+SHZSO4=8H10+CI‘2(SO4)3+
S
2

204=stzos +2H20
.0, 42H,%0: +2KMnO,=2MnSO, +2KOH+6H,0
1
), +3H,50, 4 2KMnO ,=2MnS0, +K,50, +8H,0
50,

|
2 +HZSO4+KzCrzo7=KzSO4+HzCr203 +H20
,0,+2FeSO, +H,S0,=Fe,(S0,);+2H,0
zoz+MnOz=MnO+Hzo+Oz 1
202+O3=H20+202 T

,0,+2KI=1I, | +2KOH

zOz+2KN[nO4=2MﬂOz 1 +ZOzT +2KOH

HZOZ +2KMnO4+6HNO3=2KN03 +2h{[n(N03)z
8H,0+50, 1

0+50. 1

0,+2NiCl, +4KOH=2Ni(OH), | +4KCl
0,+2KOH+2K ,(Fe(CN) )=2K,(Fe(CN) 1+

BRSNS o

o
T
0o

2
2

E:EECEE‘:EI+

e
@,
_|_
O

0,
0,+NaBrO=NaBr+H,0+0, 1.
0, +Nal0=0,+Nal+H,0
2+N3103=3Hzo+302+NaI
Oz+2NaOH=2H20+Nazoz
0,+Na2OH+CH,0=HCOONa+2H,0
0,4+N3z,CO;=Na,;0,+4CO; T +Hzo
0.
o,

[T T

E’:IL“:E
O

+Na,SO,=Na,S0,+H,0

+2Heg=Hg,0+H,0

,+Hg,0=2HgO+3H,0+0, 1
2HC1+SnCl,=SnCl,+2H;0

B (LD
3Li+ AICI;=3LiCl+ Al (fi#k )

8

IEETT

SE
» O
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'2Li+Br.=2LiBr
6Li+B,0,=3Li,0+2B (k)
2Li+2C=1Li,C, ( m#k )
2Li+2C0,=Li,C,+20, (7111?‘9!&)
2Li+2CO=LizCz+Oz (ﬁm)
2Li+Cl,=2LiCl
oLi+H,=2LiH (jm#k )
oLi+2HCI=2LiCl+H, 1
3Li+4HNO,=3LiNO,+2H,04+NO
2Li+2H,0=2LiOH+H, 1
2Li+2H,S=2LiHS+H, 1
2Li+2HCN=2LiCN+H, 1
zLi_i.HzSO‘(ﬁ):LizSO;,'*‘Hz T
6Li+2H,PO,=2Li,PO,+3H, 1
2Li+Mg(NO,),=2LiNO,+Mg (n#k)
gLi+2N,=2Li,N,
4Li42NO=2Li,0+N, 1
2Li4+2NH,=2NH,Li+H, t
4L1+OZ ZleO
3Li+P=Li,P
2Li+S= szs @D
6Li-+2Si=Li,Si, ( fn#k )
Li,04+Cl,=2Li4+Cl,01
Li,0+ H,0=2LiOH
2LiOH=Li,O+H,O (jm#k )
2LiOH+Ba CIZ—B (OH),+2LiCl
2LiOH+CaCl, =Ca(0OH), 1+9Llcl(7mm)
I 10}I-rHC1—LlC1‘rH O
LiOH+HF=LiF | +Hzo _
LiOH+H,0=LiOH.H,0
LiOH-H,0=LiOH+H,0 ( fin# )
°L10H+Ca—2L1+CaO+H 2O Cm#t)
cLiOH+Mg= 2L1+MgO+H O (m# )
.;LlOH“{"H PO4—L131 O4'2H Ol +Hzo
6L10H+?H PO,=(LisPO,),-H,0 | +5H, O(ﬁnsﬂn)
LiOH+H, Po4==L1H PO,+H,0
4L10H+H PO4—L12HPO4+2H 0]



L;OH+HIO,=LilO4-H,0
L;OH+HNQO,=LiNO, +H (0]

L1OH+C H,OH+H,0=C,H OLis2H,0 }
2L10H+H CO3 L12CO l+ZH O
iLiOH+HZS=LiHS+HzO
2LiOH4-H,S=Li,S+2H,0 ( m# )
2LLiOH+H,S0,=Li,S0O,+2H,0
2LiOH+H,Si0O,=L1,5i0,°-H O+2H O (h#)
2L10H+12—L11+LIIO+H (0]
ZLiOH—I—Zn=LiZnOZ+HzT
LiH+H,0=LiOH+H, 1

41L.iH4 A1Br,=LiAIH,+3LiBr
LiH+NH,=LiNH,+H, 1
sLiH4+N.=Li,N+NH, t (/)
LiH+HCl=LiCIl+H, 1

LiF+HF=LiHF,

LiF+HC1=LiC1+HFT

2LiCl=:5Li+Cl, 1 ( ff@imh )
LiCl4+H,0=LioH+HCI (jmnit)
2LiCl4+-CaC0y=Li,CQy | +CaCl,
LiCl4+H,S0,=LiHSO,+HCI 1 (jm#)
2LiC1+H,S0,=Li,S0,+2HCI 1 (jm#k)
2L1C1+Mn0 +2H,50,=MnS0O,+Li,S0,+2H,0
+Cl, (meit)

L1C1+NH +C0,+H,0=LiHCO,+NH,Cl
3L1C1+Na2HPO4+NaOH Ly PO l+3NaCl+HzO
LiCl+NH,F=LiF | +NH,C!

2L1C1+(NH4) GCRs=Iu Q0 E2NH .C]
LiCl+AgNO,=AgCl | +LiNO;j
2LiCl4+Ag,CrO,=2AgCl ]| +Li,CrO;
2LiCl+Ag,S=Li,S+2AgCl ]}
3LiCl4+Ag,(Fe(CN);)=3AgCl | +Lis(Fe(CN)¢)
2LiBr+Cl,=2LiCl+Br,

2LiBr+MnO, +3H SO‘—2L1HSO +MnSO, +2H,0
+Br,

2LB1Br+VInO ,+2H,S0,=Li,S0,+MnSO,+2H,0
+Br,

LiBr+AgNO,=AgBr | +LiNO,
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